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Number and Operations CCP3200-2
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& Timed Deill Shedh +

5a) In which of the following boxes
can 7 be placed to make the
equation true?

%in u\@e

L12+5=10+ .9-6=12-

b) Write the missing numbers.

11 14

c) Is 36 an even or odd number?

d) Add down and acros
)
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e) There are 9 boys and 12 girls in Jasmine’s class at school.
How many students are in her class altogether?

N\
Justin has 4 pennies. Rachel has 3 dimes. Ryan has
2 nickels. How much money do they have
altogether?
-
L Answer:
J
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M Review Gliedl NAME:

Review B

a) How many crabs are there?

b) How many equal parts has
this circle been cut into?

c) Count the buttons.
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tens ones.

Fill in the Ing mbers:

d) What is the missing number in this sequence?
10, 20, 30, 40,

e) Add and subtract the following.
D/7+7= i 12-6= iN8+9+4=

f) How much money is this? Answer:
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Adding and Subtracting

a) Add and subtract these numbers:

Add Subtract
12

c) Facts that add to .
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